C12 - 6.0 - Trig Formula Sheet/Steps Review

let m = sinx

IDs
Fractions
Factoring
Conjugate

Pythagorean Identities

sin? @ + cos?6 =1 1 + tan? 6 = sec?6 1+ cot? 4 =
Reciprocal and Quotient Identities
1 sin@
secl = cscd = —— = _
cosf sinf cotb tan6 tand = 0s0

Addition Identities

sin(a + B) = sinacosf + cosasinf

sin(a — B) = sinacosf — cosasinf
Double Angle Identities
c0s26 = cos? 6 — sin? 6

=2cos?6 -1
=1-—2sin%0

cos(a + B) = cosacosf — sinasinf

cos(a — B) = cosacosp + sinasinf

sin26 = 2sinfcos0O

csc? 6

cos6

sinf

Conjugates, Foil Conjugate, Pythag, Simplify
Distribution and FOIL (where necessary)

Trig Identities: Steps
Get into sin and cos

- Rearrange terms
Identities

Fractions

Simplify

Adding and subtracting fractions
LCD: Do to the top do to the bottom

Add and subtract 1

(Complex Fractions)

Add Fractions top and bottom,
Flip and multiply

OR

Multiplying by 1
Flip and multiply
Separate fractions

Multiply top and bottom by LCD

Chooses a cos26 to:

Cross off the '1' or
Factoring (Check by distribution/FOIL)
GCF
Trinomials
Differences of Squares

Factor

Combine with the #/sin? x/ cos? x etc

Watch out for GCF = —ve
Negative Distribution !

tan(a + §) tana + tanf
an(a =
1 — tana tanf

tana — tanf

tan(a — B) =

1 + tana tanf

tan 20 =

1 —tan26

2tan@
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C12 - 6.0 - Fractions/LCD/Exponents/Distribution Theory

Multiply % b _ab a ac 1 -
57 d" bd axE—— b><c—b axa—l
. a
Divide @= a _ (ﬂ)
(%) (é) \b/ _
g;gz a ¢ b Cb a a ¢
b d b d_ a+-= a+-—= p ¢ —+c=
a_ d_ ad a d ad ¢ ac S ac a 1 a 2 1 a
5XT e axo=— | laxy=—  gf 0% | | Zo-2 el
b C bc b b b b b C bc b c bc
Add/Subtract
E+£_a+c g+£_ad+cbg i_ad+ca ¢ _a+tchbfa c _ab+1)+cb
b b b |pTd " bd |b bd  bd |p2Tb5" b2z [p b+l b(b+1)
a+b_a+b s ¢ a ¢g a <tak +a 1 x+a x a
c ¢ ¢ €parate btc b ¢ Common Mistakes z1l+a 1z
a=h ] a b
a+b+c=a+c+b ab = ba | Rearrange b=aq Mirror Rec1procal:5—>5
%:% Cross a_c¢ _cb da_ da ch
da = cb Multiply | | 6~ d || T 4 p ¢ —=b d=;
1 .
x 1 Multily §+1 14+ x  Multiply
— u = =5, Top/Bottom
32(,' % f — l +E Both Sides 2 +% 2x +3 By LCD
—=_ H 44 By LCD
22
x=1
2 3 3 x™m
X X x =x? xXx?=x3 | x™xx"=xmtn x—=x x_=x x_=x2 f=1 —=x""
x x? x X x
(x™)" mxn a 1 273 -1 2_13 -1 —1 Common m
X =X 0 = — A _ - N
* x® x_a_xa x  x ¢2‘3x Mistakes xn = Yx™
x(x + 1) x=2)x+1)  2x+Dx+1 x+DEx-1)
x? +x X% —x—2 2x2+3x+1 x? =1
FOIL Conjugates: FL
x* +x x?—x—2 2x% +3x +1 x? =1
x(x+1) -2+ x+ D +1) (x+Dx—-1)
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